

$$[2] \quad 2 \sum_{n=2}^{\infty} n(n-1) a_n x^{n-2} - 3x^2 \sum_{n=1}^{\infty} n a_n x^{n-1} - 6x \sum_{n=0}^{\infty} a_n x^n = 0$$

$$\sum_{n=2}^{\infty} 2n(n-1) a_n x^{n-2} - \sum_{n=1}^{\infty} 3n a_n x^{n+1} - \sum_{n=0}^{\infty} 6a_n x^{n+1} = 0$$

$$\sum_{n=-1}^{\infty} 2(n+3)(n+2) a_{n+3} x^{n+1} - \sum_{n=1}^{\infty} 3n a_n x^{n+1} - \sum_{n=0}^{\infty} 6a_n x^{n+1} = 0$$

$$2(2)(1) a_2 + 2(3)(2) a_3 x - 6a_0 x$$

$$+ \sum_{n=1}^{\infty} [2(n+3)(n+2) a_{n+3} - (3n+6) a_n] x^{n+1} = 0$$

$$4a_2 + (12a_3 - 6a_0)x + \sum_{n=1}^{\infty} [2(n+3)(n+2) a_{n+3} - 3(n+2) a_n] x^{n+1} = 0$$

$$4a_2 = 0 \rightarrow a_2 = 0$$

$$12a_3 - 6a_0 = 0 \rightarrow a_3 = \frac{1}{2} a_0$$

$$2(n+3)(n+2) a_{n+3} - 3(n+2) a_n = 0 \rightarrow a_{n+3} = \frac{3}{2(n+3)} a_n \text{ for } n \geq 1$$

$$\text{Let } a_0 = 1, a_1 = 0 = a_4 = a_7 = \dots$$

$$a_2 = 0 = a_5 = a_8 = \dots$$

$$a_3 = \frac{1}{2} a_0 = \frac{1}{2}$$

$$n=3: a_6 = \frac{3}{2(6)} a_3 = \frac{3}{2^2 \cdot 6}$$

$$n=6: a_9 = \frac{3}{2(9)} a_6 = \frac{3^2}{2^3 \cdot 6 \cdot 9}$$

$$n=9: a_{12} = \frac{3}{2(12)} a_9 = \frac{3^3}{2^4 \cdot 6 \cdot 9 \cdot 12}$$

$$y_1 = 1 + \frac{1}{2}x^3 + \frac{3}{2^2 \cdot 6}x^6 + \frac{3^2}{2^3 \cdot 6 \cdot 9}x^9 + \frac{3^3}{2^4 \cdot 6 \cdot 9 \cdot 12}x^{12} + \dots$$

$$= 1 + \frac{3}{2 \cdot 3}x^3 + \frac{3^2}{2^2 \cdot 3 \cdot 6}x^6 + \frac{3^3}{2^3 \cdot 3 \cdot 6 \cdot 9}x^9 + \frac{3^4}{2^4 \cdot 3 \cdot 6 \cdot 9 \cdot 12}x^{12} + \dots$$

$$\begin{array}{ccccccc} & & & & & & \\ n=0 & 1 & 2 & 3 & 4 & & \end{array}$$

$$= 1 + \sum_{n=1}^{\infty} \frac{3^n}{2^n \cdot 3 \cdot 6 \cdot 9 \dots 3n} x^{3n}$$

$$= 1 + \sum_{n=1}^{\infty} \frac{3^n}{2^n 3^n (n!)} x^{3n}$$

$$= 1 + \sum_{n=1}^{\infty} \frac{1}{2^n \cdot n!} x^{3n}$$

$$= \sum_{n=0}^{\infty} \frac{1}{2^n \cdot n!} x^{3n}$$

LET $a_0 = 0, a_1 = 1,$

$a_2 = 0 = a_5 = a_8 = \dots$

$a_3 = \frac{1}{2}a_0 = 0 = a_6 = a_9 = \dots$

$n=1: a_4 = \frac{3}{2(4)}a_1 = \frac{3}{2 \cdot 4}$

$n=4: a_7 = \frac{3}{2(7)}a_4 = \frac{3^2}{2^2 \cdot 4 \cdot 7}$

$n=7: a_{10} = \frac{3}{2(10)}a_7 = \frac{3^3}{2^3 \cdot 4 \cdot 7 \cdot 10}$

$$y_2 = x + \frac{3}{2 \cdot 4} x^4 + \frac{3^2}{2^2 \cdot 4 \cdot 7} x^7 + \frac{3^3}{2^3 \cdot 4 \cdot 7 \cdot 10} x^{10} + \dots$$

$n=0$ 1 2 3

$$= \sum_{n=0}^{\infty} \frac{3^n}{2^n (1 \cdot 4 \cdot 7 \dots (3n+1))} x^{3n+1}$$

$$y = C_1 y_1 + C_2 y_2$$

$$[3] \quad y'' + \underbrace{\frac{x-3}{x^2-2x}} y' - \underbrace{\frac{1}{x^2-2x}} y = 0$$

BOTH DISCONT @ $x=0$

$$\lim_{x \rightarrow 0} x \cdot \frac{x-3}{x^2-2x} = \lim_{x \rightarrow 0} \frac{x-3}{x-2} = \frac{3}{2} \quad \text{AND} \quad \lim_{x \rightarrow 0} x^2 \cdot \frac{-1}{x^2-2x} = \lim_{x \rightarrow 0} -\frac{x}{x-2} = 0 \quad \text{BOTH EXIST}$$

$x=0$ IS A REGULAR SINGULAR POINT $\rightarrow$ USE METHOD OF FROBENIUS

$$\begin{aligned} (x^2-2x) \sum_{n=0}^{\infty} (n+r)(n+r-1) a_n x^{n+r-2} + (x-3) \sum_{n=0}^{\infty} (n+r) a_n x^{n+r-1} - \sum_{n=0}^{\infty} a_n x^{n+r} &= 0 \\ \sum_{n=0}^{\infty} (n+r)(n+r-1) a_n x^{n+r} - \sum_{n=0}^{\infty} 2(n+r)(n+r-1) a_n x^{n+r-1} & \\ + \sum_{n=0}^{\infty} (n+r) a_n x^{n+r} - \sum_{n=0}^{\infty} 3(n+r) a_n x^{n+r-1} &= 0 \\ - \sum_{n=0}^{\infty} a_n x^{n+r} & \\ \sum_{n=0}^{\infty} [(n+r)(n+r-1) + (n+r) - 1] a_n x^{n+r} - \sum_{n=-1}^{\infty} [2(n+r+1)(n+r) + 3(n+r+1)] a_{n+1} x^{n+r} & \\ - [2r(r-1) + 3r] a_0 x^{r+1} + \sum_{n=0}^{\infty} [(n+r+1)(n+r-1) a_n - (2n+2r+3)(n+r+1) a_{n+1}] x^{n+r} &= 0 \\ &= 0 \end{aligned}$$

$$-(2r(r-1)+3r)=0 \rightarrow r(2r-2+3)=0 \rightarrow r(2r+1)=0 \rightarrow r=0, -\frac{1}{2}$$

$$(n+r+1)(n+r-1)a_n - (2n+2r+3)(n+r+1)a_{n+1} = 0 \text{ FOR ALL } n \geq 0$$

$$a_{n+1} = \frac{n+r-1}{2n+2r+3} a_n \text{ FOR ALL } n \geq 0$$

$$r=0: a_{n+1} = \frac{n-1}{2n+3} a_n$$

$$\text{LET } a_0 = 1$$

$$n=0: a_1 = \frac{-1}{3} a_0 = -\frac{1}{3}$$

$$n=1: a_2 = 0 = a_3 = a_4 = \dots$$

$$y_1 = 1 - \frac{1}{3}x$$

$$r = -\frac{1}{2}: a_{n+1} = \frac{n-\frac{3}{2}}{2n+2} a_n = \frac{2n-3}{4n+4} a_n$$

$$\text{LET } a_0 = 1$$

$$n=0: a_1 = -\frac{3}{4} a_0 = -\frac{3}{4}$$

$$n=1: a_2 = -\frac{1}{8} a_1 = \frac{1 \cdot 3}{4 \cdot 8}$$

$$n=2: a_3 = \frac{1}{12} a_2 = \frac{1 \cdot 3 \cdot 1}{4 \cdot 8 \cdot 12}$$

$$n=3: a_4 = \frac{3}{16} a_3 = \frac{1 \cdot 3 \cdot 1 \cdot 3}{4 \cdot 8 \cdot 12 \cdot 16}$$

$$n=4: a_5 = \frac{5}{20} a_4 = \frac{1 \cdot 3 \cdot 1 \cdot 3 \cdot 5}{4 \cdot 8 \cdot 12 \cdot 16 \cdot 20}$$

$$y_2 = 1 - \frac{3}{4}x + \frac{1 \cdot 3}{4 \cdot 8}x^2 + \frac{1 \cdot 3 \cdot 1}{4 \cdot 8 \cdot 12}x^3 + \frac{1 \cdot 3 \cdot 1 \cdot 3}{4 \cdot 8 \cdot 12 \cdot 16}x^4 + \frac{1 \cdot 3 \cdot 1 \cdot 3 \cdot 5}{4 \cdot 8 \cdot 12 \cdot 16 \cdot 20}x^5 + \dots$$

$\begin{matrix} n=0 & 1 & 2 & 3 & 4 & 5 \end{matrix}$

$$\begin{aligned} y_2 &= 1 + \sum_{n=1}^{\infty} \frac{(-3)(-1) \cdot 1 \cdot 3 \cdot 5 \dots (2n-5)}{4 \cdot 8 \cdot 12 \dots (4n)} x^n \\ &= 1 + \sum_{n=1}^{\infty} \frac{3 \cdot \frac{(2(n-2))!}{2^{n-2}(n-2)!}}{4^n \cdot n!} x^n \\ &= 1 + \sum_{n=1}^{\infty} \frac{3((2n-4)!)}{2^{n-2}(n-2)! \cdot 2^{2n} n!} x^n \\ &= 1 + \sum_{n=1}^{\infty} \frac{3((2n-4)!)}{2^{3n-2}(n-2)! n!} x^n \end{aligned}$$